Handout Examples Section 19 
Example 1: Find all solutions of 
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Solution: We are looking for values of 
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These values are found by testing all the values in 
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 for x. Substituting in, we obtain
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Thus, x =1 and x = 5 are solutions.
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Example 2: If R is a commutative ring with unity with characteristic 4, compute and simplify
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Solution: Recall that the binomial theorem says that 

[image: image10.wmf]n

n

n

n

n

n

b

n

n

ab

n

n

b

a

n

b

a

n

a

n

b

a

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

+

+

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

+

-

-

-

1

2

2

1

1

2

1

0

)

(

K

 where 
[image: image11.wmf])!

(

!

!

r

n

r

n

r

n

-

=

÷

÷

ø

ö

ç

ç

è

æ

.
Hence, 
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_1161693605.unknown

_1161716870.unknown

_1161716963.unknown

_1161718114.unknown

_1352616927.unknown

_1161718001.unknown

_1161716945.unknown

_1161715951.unknown

_1161715974.unknown

_1161715936.unknown

_1161693512.unknown

